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Geometry

« ACTFWDD4hepGeometryExample -ni -j1 --mat-output-
file surfaces-map-FST2 --dd4hep-input ${GEOM} --
output-json true --dd4hep-envelopeR 0.1 --dd4hep-
envelopeZ 0.1 -mat-output-allsurfaces true --mat-

output-sensitive false --output-obj O --output-root 1

e The last two options are necessary, or it crashed

« Cannot produce obj file: missing algorithm name




Propagation

e Works



Material mapping failed

ACTFWDD4hepGeometryExample -n1 -j1 -mat-output-file surfaces-
map-FST2 --dd4hep-input ${GEOM} --output-json true --dd4hep-
envelopeR 0.1 --dd4hep-envelopeZ 0.1 --mat-output-allsurfaces true --
mat-output-sensitive false --output-obj O --output-root 1

The last two options are necessary, or it crashed
Cannot produce obj file: missing algorithm name

Material mapping failed
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Fatras&Rec works

nStates_vs_costheta

I
—_

- Entries 9928
B Mean  -0.005599
- Mean y 19.79
__J( Std Dev 0.5794
:+ StdDevy  2.122
o a
H tyt : 1
il e Hit ++Jr++++++ +++JFH+++H ittty H++++++++++ +++++H+ | t
:WL 1 1 J[ b +
STy i
- ; 1 k Jr *
- f
_ t
SR a
- 1
E JrJr JrJr
;’ |1 | L1 1 | [ | | | | | 1 1 | 1 1 | L1 1 | 1 1 | L 1 1 | L1 1

-08 06 04 -02 O 02 04 06 0.8 1

cos6

nStates vs eta
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Fatras&Rec
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